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1,124

11 ARRIS XA E X

o 0N Y Kt KIA (Al & OH QI QHOFAIIFA)
1,576, 7502 x4 E12E

Mo W

75,684

75,684
60,547

4,541
10,596

74,560

1,124

ofN
Ol
0zt
2
re
=
12
"2
O
il
e
12
=
0

M H

86,779
26,034
60,745

33,556

53,223

307 212t01™

A H

86,779
26,034
60,745

86,779,000&

UMY

86,779

86,779
26,034
60,745

MW

110,465
88,372
6,628
15,465

97,966

12,499

308 AXIHMSOIA

MW

110,465
88,372
6,628
15,465

97,966

12,499

ZoH! S2l=Hl 27,616,2503 %42 |

Mo W

110,465
110,465
88,372
6,628
15,465

97,966

12,49

NASZONQ! ZEH| L A XA

Mo W

1,358
679
204
475

1,358

1,358

1,358
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SN OISR
M Zoje SXNSH
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 6,650
02 QI XHE AL E R (01X THE) 19,000 19,000 0
osUHE H0HR! FEHIHZALY
3,800,000 x6H 19,000
= 9,500
= 2,850
Ea 6,650
AYFOS =8| X2 24,000 14,325 9,675
== 4,800
o 19,200
301 2= 24,000 14,325 9,675
< 4,800
= 19,200
02 MBI 2HHSFHS(HAANS, XLHE) 24,000 14,325 9,675
S AIEE OOl 22|
1,600,000 * 15H 24,000
= 4,800
Ea 19,200
Z0He! DEEZ SHOIHASHE D] X (EX) 1,000 1,600 A600
== 250
[ 750
307 212+01™ 1,000 1,600 A600
[ 250
T 750
11 ABIS XA EE 1,000 1,600 2600
STOO DHEZ GHOITHA SH|
25,0002 ~40CH 1,000
= 250
o 750
ZOoHe! S MEA XA 27,000 0 27,000
s 8,100
s 18,900
307 @I2t01 & 27,000 0 27,000
[ 8,100
Ea 18,900
11 AMEISXAEEES 27,000 0 27,000
oXHe!l SZUXm BHIZ Y
180,000& *150H 27,000
= 8,100
= 18,900
LELTHE ML HBIRM X 136,597 136,597 0
= 95,617
= 12,294
= 28,686
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K
I-I il—l :
Ct2|:

by
te X1

S - B

- SHRABA) - HRAY - BES

Ofl &F2H

HE
0l &y

SHHS0IH

HH W

136,597
95,617
12,294
28,686

136,597

13 37|12

o ZHH

tSOICH et & & 2 EF AL
OtSIHEXIJ (LETHE MHIA)
34,149,250 & #4 2|

HH W

136,597

136,597
95,617
12,294
28,686

136,597

LYTHEMEIA SH EUHAY

A

48,000
14,400
33,600

48,000

M

48,000
14,400
33,600

48,000

M

48,000

48,000
14,400
33,600

48,000

HoH W

189,700
132,790
17,073
39,837

236,455

N6, 755

308 At

>
o

tHIS0Id

MW

189,700
132,790
17,073
39,837

236,455

NGB, 755

47,425,000& *42 |

MW

189,700

189,700
132,790
17,073
39,837

236,455

N4B, 755

LS EHSMEIAXR

MW

111,020
77,714
9,992
23,314

108,080

2,940

308 AkX

=y SFS

Mo W

111,020
77,714
9,992
23,314

108,080

2,940

13 301

tSOICH et &8 & P EF AL I

111,020

108,080

2,940
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2A:

M Zoje SXNSH
Sl Hojel Moty X2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oLE MO JU=ESAHHA
27,755,000& 42| 111,020
= 77,714
[ 9,992
T 23,314
LEHY F2A4ERNE 1,924 1,924
= 1,347
[ 173
Ea 404
308 XXM SOIA 1,924 1,924
= 1,347
s 173
s 404
13 SI[2SOHE & EAS A 1,924 1,924
oY R2aE 1,924,000& 1,924
= 1,347
= 173
o 404
ZEZT LY SESSMUIA(F2IHE) XA 233,803 233,803
= 116,902
= 35,070
o 81,831
307 @120l & 233,803 233,803
= 116,902
= 35,070
o 81,831
11 AMEISXAIEEXS 233,803 233,803
oXEE LEHM SHFTSSMHIA(F2HM
g) 58,450, 7503 42| 233,803
= 116,902
= 35,070
= 81,831
ZEE LY SESSHBA(F2A0E) X 102,300 102,300
= 71,610
= 9,207
= 21,483
308 AXIMSOIA 102,300 102,300
= 71,610
< 9,207
= 21,483
18 SIS0t 4 A A A 102,300 102,300
CHEE LLHHY SHBESMHIA(FAD
) 25,575,000 42| 102,300
= 71,610
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PSER
o e

el

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

A H

9,207
21,483

M

5,600
1,680
3,920

5,600

307 212+01™

M

5,600
1,680
3,920

5,600

5,600,000& 10 A

A H

5,600

5,600
1,680
3,920

5,600

Zoie! 2sSXHSHAE

HoH W

4,663,873
3,264,712
419,748
979,413

5,195,177

A531,304

308 XtXIEMSO0IE

HH W

4,663,873
3,264,712
419,748
979,413

5,195,177

A531,304

1,165,968, 2002 4= 0|

HoH W

4,663,873

4,663,873
3,264,712
419,748
979,413

5,195,177

A531,304

HoH W

202,706
141,894
18,244
42,568

59,060

143,646

0

308 AbXIE

JIS0IA

>

r

MW

202,706
141,894
18,244
42,568

59,060

143,646

50,676,500& *42 7|

MW

202,706

202,706
141,894
18,244
42,568

59,060

143,646

|

oz
2
e
[
O

A&

H

HIXI&

M

48,121
9,624
38,497

48,121
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SN OISR
M Zoje SXNSH
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 48,121 48,121 0
= 9,624
= 38,497
18 SIS0t HAS A 48,121 48,121 0
o Z0He! ESXIA(CHIZH)
12,030,250 x4= 7| 48,121
=S 9,624
s 38,497
ol 2SNE =213 dofds 288 1,680 1,680 0
201 =3 1,680 1,680
01 At22t2ltl 1,680 1,680
oHOjl BESNE 302 Jofiasl 2
e 70,0002 *42]«6H 1,680
R FAUESAIE HE 700,000 0 700,000
401 Al HIYL S CHYI 500,000 500,000
01 AlZH| 500,000 500,000
o0 A2 AL AEHI
500,000,000& 500,000
405 KHAHE SH 200,000 200,000
01 Tt 2SS F=HI 200,000 200,000
SRRl FADSAIE FD|
200,000,000 200,000
0 SXAE JIs22 739,238 0 739,238
= 369,619
[ 258,733
Ea 110,886
401 Al HIZL S 0HYI 550,000 0 550,000
= 275,000
s 192,500
s 82,500
01 Al&HI 550,000 0 550,000
oFQ MAMEAIE HHI2Z
550,000,000 550,000
= 275,000
=S 192,500
s 82,500
405 KHaHE SH 189,238 0 189,238
= 94,619
=S 66,233
s 28,386
01 TR =SFISHI 189,238 0 189,238
oFQ MAMWEAILE HHI2Z
189,238,000 189,238
= 94,619
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2A:
PSER
o e

el

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

10,664,825,000&

Mo

10,664,825
8,693,107
1,086,638

885,080

H H W

99,733
79,787
9,973
9,973

68,750

30,983

HoH W

99,733
79,787
9,973
9,973

68,750

30,983

99,733,000

HoH W

99,733

99,733
79,787
9,973
9,973

68,750

30,983

=NH20 K2AE(EX)

HoH W

—

,740,679
,392,543
174,068
174,068

—_

1,652,866

87,813

MW

—

,290,679
,032,543
129,068
129,068

—

1,202,866

87,813

1,290,679,000&

Mo W

—

,290,679
,290,679
,032,543
129,068
129,068

1,202,866

87,813

308 XXIHMSOIA

Mo W

450,000
360,000
45,000
45,000

450,000

450,000,000

Mo W

450,000

450,000
360,000
45,000
45,000

450,000

ME=i=}

19,737

17,849

1,888

308 AtXIEMSOIE

19,737

17,849

1,888
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FA F2US
M 20| ZMBYUE HASS N
ERl: JIEZMEEE EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
08 W=J| 202 19,737 17,849 1,888
CIZHESH WSS (ZHIRES 100)
19,737,000 * 100 2= 19,737
ARISXSEAHIA X 1,786,167 1,742,533 43,634
= 291,749
[ 642,683
Il 123,000
== 178,076
o 550,659
AAHS X 1,263,251 1,321,725 N58,474
= 642,683
) 123,000
= 123,945
= 373,623
3|U=X XA 25,224 23,936 1,288
201 Ler23| 10,644 9.33%6 1,308
01 At2teltl 9,34 9,336 18
oIglE & 250,000 *2H 500
OMNFES 50,0002 x4 5+82 1,600
o3|gd=k SS28H|, ZEH]
250,000& %102 2,500
coY=NYL 21 EL2 M
5,0008 x25+2000H 2,000
oslg=Tlee 27 S|
9,000 +x3& »102&! 2,754
02 s3=gHl 1,290 0 1,290
o= E= RERS
4302 «250E * 122 1,290
202 04l 4,380 4,400 A0
01 2LHoIH 4,380 4,400 A0
S IEEERESS
20,0003 x3& »73 4,380
307 @I2t01 & 10,200 10,200
1 AMISXAIEEXE 10,200 10,200
o0lsS¥%ciy 24 850,000& * 122 10,200
Nas =0 daoty X3 17,000 22,000 25,000
301 22N = 17,000 22,000 25,000
02 MBI 2HHSFHS(HAANS, KLHE) 17,000 22,000 25,000
oMAS M4 =st0{e B4
200,000& x25H 5,000
o3& A== 6,000,000& 22 12,000
e X+ K& 4,020 4,020
301 EetE2 N = 4,020 4,020
02 NBI2HHSFS(HAAS, NLHE) 4,020 4,020
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SN FeI= D
7(‘|}_(|-|: /\I'QIE |E0FAﬂH|A Xl%
Selr XaHS XY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ogiei Xt HIto b 20,0002 48 960
ST AMEE HeAX AT
250,000 8 2,000
oFal e ifit LAl
60,0002 14 60
oA Xt bl 1,000,000& x1H 1,000
NASE dAECHAIY 16,500 16,500
301 EtE N = 16,500 16,500
02 ARSI 2 XSG (FHAAHS, NLWE) 16,500 16,500
o MASE Yol Fotai=cl|
25,0002 +660H 16,500
AHAIZI2IALY 2(EX) 15,000 15,000 0
[ 7,500
= 2,250
Ea 5,250
201 er23| 7,500 7,500 0
[ 3,750
= 1,125
= 2,625
01 At2teltl 7,500 7,500 0
oM2SXNSEAMEIA Atdl2eIAE E22
HIZ 7,500 x500H *23] 7,500
[ 3,750
= 1,125
= 2,625
301 EtE N = 7,500 7,500 0
[ 3,750
== 1,125
= 2,625
01 A2 HSFS(RNEERTHE) 7,500 7,500 0
oAtediZteltia At I+ XA
937,500 x84 7,500
= 3,750
& 1,125
= 2,625
XSXE2E ASIAHIA EXFAIE (EX) 698,988 728,750 N29,762
= 559,220
< 41,939
s 97,829
202 04l 1,000 1,000 0
= 800
== 60
[Ea 140
01 =LHO LI 1,000 1,000 0
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M AlB|EXESMEIA Y

&l HARIAE KR (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXISASI MEIAERAIS =&l Ol
10,0002 x1& %100 1,000
= 800
[ 60
T 140
308 AXIMSOIA 697,988 727,750 N29,762
= 558,420
[ 41,879
Ea 97,689
13 S I2S0tHe 4 A AS A 697,988 727,750 N29,762
o X A2l MEIAS XA
582,450,000 582,450
= 465,960
< 34,947
[Ea 81,543
S IIARIE Y2 EAE
45,698,000& 45,698
= 36,588
[ 2,742
T 6,368
o AESAEIAA 69,840,000& 69,840
= 55,872
[ 4,190
Ea 9,778
SHs XEY SEAMHIA X 108,519 108,519 0
= 75,963
[ 3,256
Ea 29,300
201 Ler23 | 37,961 37,961 0
s 26,573
s 1,139
s 10,249
01 AtR2te|Hl 37,961 37,961 0
osH U= 28 =3
3,451,000 11045 37,961
= 26,573
=S 1,139
s 10,249
301 22N = 70,558 70,558 0
= 49,390
S 2,117
o 19,051
01 Al 2E A S(FRDEXMA) 70,558 70,558 0

_299_




SN OISR D
M AlRISXSEAHA X
Selr XaHS XY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oS0 AEE=N AMZAUAT A
70,558,000& 70,558
= 49,390
[ 2,117
T 19,051
felsul olZ2A SX0Ist 22H X 255,000 336,000 81,000
= 76,500
[Ea 178,500
201 er23y| 12,750 16,300 A\3,550
= 3,825
o 8,925
01 Al 22| 12,750 16,300 13,550
o22SUl ZAISH 2o 25
1,159,000« 110HSH 12,750
< 3,825
Ea 8,925
301 LEtE NS 242,250 319,700 AT7,450
= 72,675
o 169,575
02 A2 A LGS (FHAAHS, NSWE) 229,500 308,000 A\T78,500
oS =XIISH ML N
229,500,000 229,500
=S 68,850
s 160,650
11 HAIMHIXI R = 12,750 11,700 1,050
oSRSH EXIISH BE 2
1,159,000« 110HSH 12,750
= 3,825
= 8,925
fesdl SIS SAIISAHY 123,000 67,000 56,000
) 123,000
301 EtE NS 123,000 67,000 56,000
Il 123,000
01 Al EE AL S(FREXH) 123,000 67,000 56,000
oesUl SXDISH 2(=52013)
123,000,000 123,000
7l 123,000
USAL Ol & 2l 27,000 24,290 2,710
= 10,000
= 8,000
Ea 9,000
DA O 2 ZRIHAH PE(EX) 25,000 20,000 5,000
= 10,000
= 6,000
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SN OISR D
M Al SXSEAHIA KR
el 2AE=K EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 34,027
= 34,027
301 LBBNZ 340,270 298,750 41,520
= 272,216
T 34,027
= 34,027
01 Al B&X2HZ2(2REETA) 340,270 298,750 41,520
o2IZEX(EXR) 340,270,000& 340,270
= 272,216
T 34,027
= 34,027
2Z3EE NN (BEX) 10,000 0 10,000
= 8,000
T 1,000
= 1,000
301 LB F 10,000 0 10,000
= 8,000
& 1,000
[ 1,000
01 AISIBEH 2GS (2 RETME) 10,000 0 10,000
o==E= 10,000,000& 10,000
= 8,000
& 1,000
= 1,000
N SAHE K& 145,646 97,768 47,878
= 1,533
& 11,104
= 133,009
HESAES K2 36,700 36,300 400
201 B2 AY| 1,300 2,300 21,000
01 At22teld| 1,300 2,300 A1,000
oXNHRASALA U Z&E S M
10,0003 *30H 13 300
oZlict HEdYA E22 =25
5,000& x50 *43| 1,000
206 =8l 3,000 3,000
01 =Yl 3,000 3,000
oA SAtES =l
30,0003 *50H 23 3,000
301 LPENF 5,400 4,000 1,400
11 SHAIAHIXIAZ 5,400 4,000 1,400
o NI SAFKHEAF 20 )
9,000 30 203 5,400
307 QIZ2t01 A 27,000 27,000 0
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FA S
2 ASASEAHIA K&
&2l TG SAHE XA (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
02 QI AANEE X 22,500 22,500 0
oHHSA T2 1
1,500,0002 #1500 2 22,500
04 CIZFHAIAIS B 4,500 4,500 0
o NHESALA T3 4,500,000 * 10K 2= 4,500
M43l M (ZOH)ME X 45,200 45,200
201 Zet23 ] 9,000 9,000
01 AtR2telbl 9,000 9,000
oXESAHAL 2& =2 ME
100,000 * 1290 2~ 1,200
oANESAb HE ZAIE
300,000 *22 600
oFEHA LA (HEHAINE S )2E
10,0002 *3000HK 3,000
oMM LA NESHMIH(KS) ME
10,0002 *3000HK 3,000
oMEME LUA MRES & =3
100,000& * 125 1,200
301 LEN= 36,200 36,200
11 SEAAHIXIES 36,200 36,200
o NHESAHAL | 25,0002 1,400 35,000
oMEME LA HA N SAAF 2HAH|
4,000& x300H 1,200
AHESAHE 2 24 6,990 5,750 1,240
201 Lt 1,950 1,950 0
01 At22telbl 1,350 1,350 0
oNHESMHR =8 AIRES
50,0002 x55*42 1,000
oAESAME2EAAE BH+E
70,0003 5 *12] 350
02 3224l 600 600 0
oI SAEH &ald|
600,000 600
202 OH| 5,040 3,800 1,240
01 2L A 5,040 600 4,440
oA SAH ZOUIOIE 204
160,000& x2&+ 123 3,840
oXESAt 2OUIOIH 22 WS FAWYI
50,0003 2 * 122 1,200
H=m S& N2SAEE I MEIA TA(EX) 3,066 3,048 18
= 1,533
[ia 1,533
307 212t01™ 3,066 3,048 18
= 1,533
[ia 1,533
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FA F2US
3 AMI=SNSEMEIA XIS
CHol: MRS AMMIE X2 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
06 2= 3,066 3,048 18
oNHESAML E8= 20,4403 %150 3,066
= 1,533
o 1,533
N SA 283 RNJ(EX) 13,670 13,670 0
s 4,100
s 9,570
201 et 3| 3,970 3,970 0
< 1,190
[Ea 2,780
01 At2t2lt] 3,970 3,970 0
oNHASAES EE= M
5,000 *500& %12 2,500
= 750
= 1,780
olESANBE ARF(HAES )
10,0003 * 1475 1,470
== 440
o 1,030
307 glztol & 9,700 9,700 0
= 2,910
= 6.790
02 2B YA E X 9,700 9,700 0
oIt SAESHI(HE U=, SHLts)
5,000,000 * 17 2= 5,000
= 1,500
o 3,500
c)|IsE AsE MESAMHRFZ2E)
2,350,000 *2JH 2= 4,700
< 1,410
= 3,290
IIRAS NSAI(ZEWT) XJ(2X) 35,020 34,000 1,020
= 7,004
Ea 28,016
307 gl2to| & 35,020 34,000 1,020
= 7,004
o 28,016
11 AMISXAIEEX 35,020 34,000 1,020
oJ|RASHSAE
2,918,333 * 1 x 12 35,020
[ 7,004
T 28,016
JIRAS NSAIL (ZEWT) X (XHA) 5,000 5,000 0
307 elztol & 5,000 5,000 0
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2A: F0l
X XH -
o e

At
el A2

41 =
ol &t e HIDS

11 AR ZXAIE 2 X 5,000 5,000 0

416,660« 1H 122 5,000

YA HHI(==X) 365,754 307,251 48,503
33,319
96,839
15,790

209,806

W

re
Jy
H0
02
=5

330,959 282,336 48,623
33,319
96,839
15,790

185,011

TR R =T

42,603

42,603

re
Jy
H0
oo
=

42,603

42,603

2
HT
v A

0
=

te| 2R

11,602 *17H+18AI2H+ 123

42,603

42,603

42,603

ErAtAIZEEIAL QI24H] XIR(E=X)

HH

71,544
35,772

3,577
32,195

69,456

2,088

101 @124H|

oA

57,384
28,692

2,869
25,823

56,49%

888

03 SRA(RIH) 222+
o SE A2 AF 21 24H]
2,391,000 «2&«12&

Mo A

57,384

57,384
28,692

2,869
25,823

56,49%

888

Mo A

14,160
7,080
708
6,372

12,960

1,200

M BRA(RIAHY) 22X BEE2RE=3 S
oS AMd2ACIAL DE - HHEEZ

70,000 =2 * 128

oSS A 2t2IAL FEASEES

120,000& x2&~ 123

o

Mo A

14,160

1,680
840

756

2,880

12,960

1,200
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M Z=ol=x s
M HAPAZH|(FU=RD)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,440
=S 144
s 1,296
oSE At &AL 22AAEE=
130,000 x2&~ 123 3,120
s 1,560
s 156
s 1,404
oSE At 2CIAL EIANES
270,000& x2H 12 6,480
= 3,240
== 324
o 2,916
SE At Z2IAL QIAH] X1 (KHAI) 23,840 24,240 2400
101 @124H| 18,000 18,000 0
03 SR (RINAHA) 222+ 18,000 18,000 0
oS Atell 22| AL 21 21H]
2,250,000& «2H~4 & 18,000
202 048l 5,840 6,240 2400
01 2L AL 5,840 2,400 3,440
oSEAtEIZEIAL 2HLHH
160,000 x2& * 122 3,840
oSEAtAIZEIAL 22 W0
100,000 x2& *102] 2,000
N SAE 2OUI0IH XIs4 i2id] X3 (EX) 66,638 66,468 170
= 33,319
Ea 33,319
101 @12A4H| 50,486 50,280 206
= 25,243
o 25,243
03 SRA(RIH )22 U2+ 50,486 50,280 206
o XA SAH ZLIUIOIH el1b|
2,103,583& «2F 122 50,486
= 25,243
T 25,243
M HA=RESS 16,152 16,188 A36
= 8,076
[Ea 8,076
04 SR (RIH)22N BEE=RES S 16,152 16,188 A36
oI SAH ZLUIOIH =21s E8&
150,000 x2& * 122 3,600
= 1,800
s 1,800
oXt2SAH ZLIUIOIE =214 28=
160,000 x2&« 123 3,840
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SN OISR D
. HY2IZH|(FLU=X
s lIEE2ghl EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 1,920
= 1,920
oXESAF ZLIUI0IH & - A BEE &
88,0002+ « 122 2,112
= 1,0
2 1,056
oXAZA ROILIOIE EXEES
275,000 x2F 123 6,600
= 3,300
= 3,300
N SAH 2CUIOIE 2l248] I 24,000 22,000 2,000
101 el t| 24,000 22,000 2,000
RECEESPTIEE RS 24,000 22,000 2,000
oXHASAF ICIUIOIE 1AHI(ZHIFH
2,400,000& 2 x5 24,000
o220 &2IAr 12l XA (EX) 76,334 74,172 2,162
s 61,067
& 12,213
i 3,04
101 @l24H| 63,408 61,248 2,160
s 50,726
& 10,145
i 2,537
03 SR (RIHL) 22X 63,408 61,248 2,160
coZg2telAb 21|
2,290,0002 2+ 12& 54,960
s 43,968
& 8,794
= 2,198
ol a0 &CIAL AlZIRAY
16, 000 x22A| 2+ 2+ 12& 8,448
s 6,758
& 1,351
i 339
N4 HASREIS 12,926 12,924 2
s 10,341
& 2,068
i 517
04 SR (RIIHL) 22X BEHERES S 12,926 12,924 2
oo ZgacIAl EIXRE S
213,5003 x2H x 123 5,124
s 4,09
& 820
= 205
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M B2 (FU=X )
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cflzglAcIAl R2UAS EEE
125,000 x2&* 12 3,000
= 2,400
[ 480
2 120
col2T0ITRIA 20IAY PEl2
120,000 =2 * 122 2,880
= 2,304
< 461
s 115
oo ACIAL UE - X 282
0,080& 28123 1,922
[ 1,538
S 307
= w7
SlE= 0 2elAb QI2AH] XIR (XHAI) 26,000 26,000
101 @12A4H| 26,000 26,000
03 SR (RIH )22 U2+ 26,000 26,000
oo ZZ0=el At A AHI(XEA)
2,600,000 «2H«5E 26,000
Jl=2&d| 24,795 24,915 A120
JI23Hl 24,795 24,915 A120
201 =3 19,935 19,935 0
01 At2t2lt] 19,935 19,935 0
SEE 250,000 * 17K 4,250
S U=\ 25,0003 +852 A 2,125
cHYZSE 200242, 5000H 500
SHEA=E 5,880
-S2Xl 20,0003 x112+ 128 2,640
NN 15,0003 18+ 123 3,240
oZUZN| DX ARBE
17,0002 105122 2,040
oI HRFH(S8) SAHI
8,0002*108 x 17! 1,360
oZ=AD| 8UE
165,000 *1CH* 12 1,980
od=J| U= 50,0002 123 600
o3JIEEI| gUig
50,0003 x2CH* 122 1,200
203 gF=4| 4,860 4,980 A120
M FA2SLRFAI 4,800 4,980 A120
=302l =t
(400,0002+(5,0008 19 )+ 12& 4,860
Heegs(Fa=x) 599,588 612,474 N 12,886
LIS HHXIE 599,588 612,474 A12,886
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SA: ==X
M WRES(FU=SID)
SRRV TN

RA - I BRA(E) - HRA - BES of vy A
LS HHKIE 599,588 612,474
701 JIEtRI HSHES 544,588 577,474
01 JIE=I AN ES 544,588 577,474
clzz S8 MES
544,588,000 544,588
IS8 ES 55,000 35,000
01 JIsd&E=s 55,000 35,000
SINCIE=INPIE= IS 55,000,000 55,000
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